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F¥EEEEREEEREEXEAEDSREBEAESBERENEERREREEEESRLRRSRRREDEEEAEERNSEESEEISRERRUER S EE R K

* A COMPARISON ON FORCASTING METHODS BETWEEN RIDGE REGRESSION *
* AND ARTIFICIAL NEURAL NETWORK METHODS IN MULTIPLE REGRESSION *
* ANALYSIS WITH MULTICOLLINEARITY. »

EKERSXREREXXEXAEREXNERXBEEREISRAXEPERESSEXRRSRENIERESREIREDSEEFBEREBEEERRERRASIRAEERERX
R S RSP
. MAIN PROGRAM *
P T I ST

CHARACTER NAME*S

INTBGER DIST,COUNT,B,FAIL

REAL DMEAN,SIGMA,C,P,NORMAL,LOGNOR,SCALE,KOPT,

*  X(120,5)
DOUBLE PRECISION MSE1,MSE2,AMSE XTX(5,5),EGNVL(S),

* VRCMAX(S), VBCMIN(S), Y(120),XTY(5),
- BTHG(S), E(120), BINT(S), YL(120),
* YSTND(120), XSTNDX(120,5),MSEY , MSE,
x SMSE,SQMSE,BMSE,SDMSE,EGNVL2,
* VECMAX2,VECMIN2,BINT2
COMMON /SEED/IX,IT
* /DIM/N,.M
E /CORR/CORR1,CORR2
IX = 13
IT=0

WRITE(*,*YKEY NO_DIST COUNT N P'
READ(S5,*)DIST,COUNT N,M
1F (M.EQ.3) THEN
WRITE(*,1)’ CORRELATION 1 ='
READ(S5,*)CORR1
ELSE IF (M.BEQ.S) THEN
WRITE(*,1)) CORRELATION 1 AND 2 =’
READ(S,*)CORR1,CORR2



15

END IF
IF (DIST.EQ.1) THEN
WRITE(*,*)'L KEY DMEAN SIGMA'

READ(S,*)DMBAN, SIGMA
ELSE IF (DIST.EQ.2) THEN
WRITE(*,*)2 KEY C P DMBAN SIGMA"
REAIXS,%)C,P,DMEAN,SIGMA
ELSE IF (DIST.BQ.3) THEN
WRITE(*,*)') KBY DMEAN SIGMA’
READ(S,)DMBAN,SIGMA
END IF
WRITE(*,1)’ PLBASE TYPE DATA FILE NAME '
READ(*,3)NAME
PORMAT(AY)
RORMAT(A)
DO § LOOP = 1,COUNT
CALL GENX(X)
CALL STNDRDX(X,XSTND)
CALL CALXTX(XSTND,XTX)
CALL BIGEN(XTX,BGNVL,VECMAX, VECMIN,EGNVL2, VECMAX?2,VECMIN2)
DO 10 B = 1,2
IF (B.EQ.1) THEN
DO 151= 1M
BINT(I) = VECMAX()
BINT2(I) = VECMAX2()
CONTINUE
ELSE IF (B.EQ.2) THEN
DO201= 1M
BINT(I) = VECMIN()
BINT2(I) = VECMIN2(])
CONTINUE
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35

END IF
IR (DIST.EQ.1) THEN
DO25S1= 1N
E(l) = NORMAL(DMEAN,SIGMA)
CONTINUE
ELSE IR (DIST.EQ.2) THEN
DO 301 =1N
E(l) = SCALE(C,P,DMEAN,SIGMA)
CONTINUE
ELSE IF (DIST.EQ.3) THEN
DO3SI=1N
B() = LOGNOR(DMEAN, SIGMA)
CONTINUE
END IF
CALL CALY(X,BINT,E,Y)
IF (DIST.EQ.3) THEN
RAIL = 0
CALL BOXCOX(Y X, YL,FAIL)
IF (FAIL.GT.0) THEN
GOTO 7
END IF
DO401= 1N
Y() = YII)
CONTINUE
END IR
CALL STNDRDY(Y,YSTND)
CALL WRTDT(YSTND,XSTND,NAME,LOOP,B)
CALL YSDXYSTND,MSEY)
CALL CALK(EGNVL2,BINT2,MSEY,KOPT)
CALL CXTY(XSTND,YSTND XTY)
CALL CBTHG(XSTND,KOPT,XTY,BTHG)
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CALL CMSE(YSTND,BTHG,XSTND MSE)
IF (B.EQ.1) THEN
MSE1 = MSE
ELSE IF (B.EQ.2) THEN
MSE2 = MSE
8ND IF
10 CONTINUE
AMSE = (MSB1+MSE2)/2
SMSE = SMSE+AMSE
SQMSB = SQMSE+(AMSE**2)
BMSE = SMSE/LOOP
WRITE(*,*LOOP,' AVERAGE ALL LOOP MSE = 'BMSE
IF (LOOP.EQ.400) THEN
SDMSE = SQRT((SQMSB-LOOP*BMSE**2))(LOOP-1))
WRITR(*,*)LOOP, SD MSE = ,SDMSE
ENDIF
5  CONTINUE
STOP
END

EZRERVEEBRERREERREERRENERERREERRRR R RN REEREREERRRR S

* GENERATE X(,7) HAVE MULTICOLLINBARITY *
AR ARBEERERRRREEANSSRIRAASIRSEASAAREENIRSANLS
SUBROUTINE GBNX(X)
REAL Z(120,6),X(120,5),NORMA L, SUMZ(6), ZBAR(6), ZSDX6), SUMS Q(6)
COMMON /SEED/X,IT
- /DIM/NM
*  /CORR/CORR1,CORR2
DO 5 J = LM+1
DO10I=1N
Z{1,J)) =0.0
Z(1,T) = NORMAL(0.0,1.0)



10 CONTINUE
5  CONTINUE
DO 771 = LM+1
SUMZ(J) = 0.0
SUMSQQ) = 0.0
DOSI=1N
SUMZ(J) = SUMZ()+Z(1,J)
SUMSQQ)) = SUMSQ(N+Z(1,1)**2
9 CONTINUE
ZBAR(J) = SUMZ()/N
ZSD(J) = SQRT((SUMSQ())-N*%ZBAR()**2))AN-1))
7  CONTINUE
DO 15I=1N
DO20J=1M
IF (J.GB.1.AND.J.LE.3) THEN
X5 = (SQRT(1-CORR)*Z({1,T)) HSQRT(CORR1)*Z(IM+1))
ELSE IF (J.GE.4) THEN
X@,J) = (SQRT(1-CORR2)*Z(,1)) «{SQRT(CORR2)*Z(I,M+1))
END IF
20 CONTINUE
15 CONTINUE
RETURN
END

XAEEREAFEARKSESESASENRIARBARRSIAABDACNARNERNREEREESAD

- STRANDRADIZE MATRIX X *
!ltIt-‘t.!ttllllltllll!lll.‘llltlll‘ll‘tlll“ttltll
SUBROUTINE STNDRDX(X,XSTND)
REAL X(120,5),SUMXSQ(5),XBAR(S5),SUMX(5),SIGX(5)
DOUBLE PRECISION XSTND(120,5)
COMMON /DIM/NM
DO10J=1M
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SUMX(J) = 0.0
SUMXSQQ) = 0.0
DO20I=1N
SUMX(J) = SUMX(J) + X(@.J)
SUMXSQ() = SUMXSQQ) + XA,))**2
20 CONTINUE |
10 CONTINUE
. DO0I=1M
XBAR(J) = SUMX(T)N
SIGX(J) = SQRT(SUMXS Q(1)-N*XBAR()**2)))
30 CONTINUE
DO 40 J = 1M
DOSOI=1N
XSTND()) = (X(,N)-XBARDSIGK(J)
50 CONTINUE
40 CONTINUR
RETURN
END

*AENSEEEEERI RN AR R SRR R R NS EE NN RN R RN RN SR AN RS "

. STRANDRADIZE MATRIX Y *
AeaeaEEEEREEASAEASRTASANASANEIRERESSNSENRERRRRRLS
SUBROUTINE STNDRDY(Y,YSTND)
DOUBLE PRECISION Y(120), YSTND(120),
* SUMYSQ,YBAR,SUMY,SIGY
COMMON /DIM/N.M
SUMY = 0,0
SUMYSQ = 0.0
DO10I=1N
SUMY = SUMY+Y()
SUMYSQ = SUMYSQ+Y(T)**2
10 CONTINUE
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YBAR = SUMYN
SIGY = SQRT(SUMYSQ-N%(YBAR**2)))
DO 201=1N
YSTNIXT) = (Y(D)-YBAR)SIGY
20 CONTINUE
RETURN
END

e T TP PP ITT Rt RS R 2P EE A2 SRR R LERL L L L)

x WRITE DATA X AND Y TO FILE -
ARAREFASRRANBEERBRNBESABASBEE IR NIIRIRRERERBEEEER N
SUBROUTINE WRTDT(Y X, NAME,L B)
DOUBLE PRECISION Y(120),X(120,5)
INTRGER B
CHARACTER NAME?*5,NO(1000)*3,5%1, FILENAME*20
COMMON /DIM/NM
OPEN(1,FILE = 'CAFORTRANFIL_NO.DAT")
REBAD(1,3)(NO(),1=1,1000)
3 PORMAT(10(A,1X))
CLOSE(1)
IF (B.EQ.1) THEN
s="1
ELSE IF (B.EQ.2) THEN
S ="
END IF
FILENAME = ‘CADATAV//NAME/NO(L)Y/ . T'lf5
OPEN(2,FILE = FILENAME)
WRITE(2,6)
WRITE(2,*) *
WRITEQ2, )M
WRITE(2,8)
WRITE(2,9)N
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11

13

12

14

15

WRITE(2,10)

WRITE(2,11)

PORMAT(# TRAJAN V1.0 PATTERNS"
RFORMAT(NO_INPUTS 1)

'FORMAT(NO_OUTPUTS 1%

PORMAT(NO_PATTERNS 'I3)
FORMAT('NO_VERIFICATION 20"
FORMAT(ATTRIBUTES"
DO 121=1M
WRITE(2,13)I
FORMAT(X',11)
CONTINUE
WRITE(2,14)
FORMAT('Y")
DO 1SI= 1N
WRITE(2, *}(X(.J),J=1,M),Y()
CONTINUB
CLOSE(2)
RETURN
END

ERASERVRPENERASERSESRINELERBE RS SN RRRO RSB REREFRENERES

BUILDING MATRIX XTX %

PRI TR R ER PRI EE AR RNE RS2 220 RS 2RSSR LEL S LS

10

SUBROUTINE CALXTX(X,XTX)
DOUBLE PRECISION XTX(S,5),X(120,5),XT(5,120)
COMMON /DIM/N.M
DO 10T = 1M
DO10I= LN

XTJI) = XA,5)
CONTINUE
DO201=1M
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DO3I=1M
XTX(,J) = 0.0
DO 40 K = LN
XTX{A,J) = XTXAI)+XT,K) *X(K,J)
40 CONTINUE
30  CONTINUE
20 CONTINUE
RETURN
END

EXEEEEREEEBREAES RS RS EFER RSB R RN UIE LD SRR R AR AN SRS

* BIGENVALUE AND EIGENVECTOR *

HBEEEFEEERXB AR SR EE SRR ISR LN ISR SRR ER ARG RS ER RN

SUBROUTINE RIGEN(A XST,BGNVL, VECMAX, VBCMIN,BGNVL2,

. VECMAX?2 VECMIN?)

DOUBLE PRBCISION A(5,5).X(5,5),BGNVL(5),EGNVL(S)
* VBCMAX(5), VECMIN(5),Q(5,5)XST(120,5),Q2(5,5),X2(5,5),

. VBCMAX2(5), VECMINX(5),XT(5,120)
COMMON /DIM/N,M
DOSI=1N

DOSI=1M
Q) = AQLJ)

5  CONTINUE
CALL JACOBKQ,1,X)
DO 101 = LM

EGNVL() = QD)
VECMAX({) = X(I,1)
VECMINQ) = X({I,M)

10 CONTINUE

DO 15T =1M
DO 15 = 1,(N-20)
XTJ,D) = XSTAL
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15 CONTINUE
DO 201 = 1M
DO30J=1M
Q2d.J) = 0.0
DO 40 K = 1,(N-20)
Q1)) = Q2(1,J) + XT(A,K) * XST(K,J)
40 CONTINUE
30 CONTINUE
20 CONTINUE
CALL JACOBI(Q2,1,X2)
DO S0 I =1M
BGNVL2I) = Q2(1I)
VECMAX2(I) = X2(1,1)
VECMIN2(I) = X2(1,M)
50 CONTINUR
RETURN
END

FRESEREERERIENEEREP IR A XS E SRR EREN SN E SR EEN SN ER S LS

* JACOBI METHOD *
AR R SEEECREROROLERRRANRRSSEEROSS
SUBROUTINE JACOBI(Q,JVEC,V)
INTRGER IN
REAL EPSI
' DOUBLE PRECISION X5,5), V(5,5).IH(5),X(5)
- COMMON /DIM/N M
IF (JVEC) 10,15,10
10 DO4I=1M
DO 14T = 1M
IF (I-]) 12,11,12
11 V@) = 1.0
GOTO 14



12
14
15

17

70

148

150

151

160

V(@,J) = 0.0
CONTINUE
IN =0
MI = M-1
DO 301 = L,MI
X() = 0.0
MJ = I+l
DO 30 J = MIM
IF (X(1)-DABS(Q(J))) 20,20,30
XT) = DABS(Q(T)
IHQ) = J
CONTINUE
DO 701 = 1M
IF (I-1) 60,60,45
IF (XMAX-X(T)) 60,70,70
XMAX = X(I)
P=I
IP = TH()
CONTINUE.
EPSI = 0.00000001
IF (XMAX-EPSI) 1000,1000,148
IN = IN+1
iF (QQP,IP)-QUJP,JP)) 150,151,151
TANG = -2.0*Q(IP,JP)ADABS(QQP,IF)-Q(P,JP))
+DSQRT((QUP,IP)-Q(IP,IP)) **2+4.0*Q(IP JP) **2))
GOTO 160
TANG = +2.0*Q(IP JP)(DABS(Q(P,IP)-Q(P,1P))
+DSQRTQUIP,IP)-Q(IP JP)) **24+4.0*Q(IP,JP) **2))
COSN = 1.0/SQRT(1.0+TANG **2)
SINE = TANG*COSN
QI = Q(IP,IP)
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152

154

155
170

153

250

320

350

QQP,IP) = COSN**2%QII+TANG*(2.0*Q(IP,JP)}+ TANG*Q(JP,JP)))
QUP.JP) = COSN**2%(Q(JP,JP)-TANG*(2.0°Q(IP,IP).-TANG*QII))

Q(P,JP) = 0.0

IF (Q(IP,IP)-QUJP,JP)) 152,153,153
TEMP = (XIP,IP)

QQP,IP) = QUP,IP)

QQP,JP) = TEMP

IF (SINE) 154,155,155

TEMP = +COSN

GOTO 170
TEMP = -COSN
COSN =ABS(SINE)
SINE = TEMP
DO 3501 = 1,MI
IF (I-IP) 210,350,200
IF (I-JP) 210,350,210
IF (TH(T)-IP) 230,240,230
IF (TH()-JP) 350,240,350
K = IH{)
TEMP = Q(I,K)
QIK) = 0.0
MJ = I+1
X(T) = 0.0
DO 320 ] = MI M
IF (X(T)-DABS(Q(Q,T))) 300,300,320
X) = DABS(Q(,D)
IH() = J
CONTINUE
Q(,K) = TRMP
CONTINUE
X(IP) = 0.0
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X({P) = 0.0
DO 5301 =1M
IF (I-IP) 370,530,420
370 TEMP = Q(LIP)
Q(LIP) = COSN*TEMP+SINE*Q(I,JP)
IF (X(1)-DABS(Q(I,IP))) 380,390,350

380 X = DABS(Q(IP))
IH(D) = IP
390 Q(,JP) = -SINE*TEMP+COSN*Q(1,IP)

IF (X(I)-DABS(Q,JP))) 400,530,530

400 XI) = DABS(Q(1,JP))
TH(Q) = JP
GOTO 530
420 IF (I-JP) 430,530,480
430 TEMP = Q(IP,])

QQP,I) = COSN*TEMP+SINB*Q(I,JP)
IF (X(P)-DABS(QQP,I))) 440,450,450

440 X(IP) = DABS(QQP,D)
THQP) = I
450 Q(,JP) = -SINR*TEMP+COSN*Q(1,JP)
IR (X(1)-DABS(Q(I,JP))) 400,530,530
480 TEMP = QIP,I)

QQP,I) = COSN*TEMP+SINE*Q(JP,I)
IF (X(IP)-DABS(Q(IP,1))) 490,500,500

490 X(P) = DABS(QUIP,I))
TH(QP) = I
500 QUP,I) = -SINE*TEMP+COSN*Q(JP,I)

IF (X(JP)-DABS(QUP,I))) 510,530,530
510 X(JP) = DABS(QUF.I))

IH(JP) =1
530  CONTINUE



IF (JVEC) 540,40,540
540 DO 550 I=1,M
TEMP = V(IIP)
V(I,IP) = COSN*TEMP+SINE*V(IJP)
V(1,JP) = -SINB*TEMP+COSN*V(IIP)
550  CONTINUE
GOTO 40
1000 RETURN
END

ARREREIEEREIRBEXEEEREEEZRIBABRERERTE AR ERBEEREKEERRR

. BUILDING MATRIX Y *
T TP T vy
SUBROUTINE CALY(X,B,E,Y)
REAL X(120,5)
DOUBLE PRECISION B(5),TY(120),Y(120),B(120)
COMMON /DIM/N,M
DO10I=1LN
TY() = 0.0
DO20K =1, M
TY(T) = TYD+XI,K)*B(K)
20 CONTINUE
Y(@) = TY(M+BQ)
10 CONTINUE
RETURN
END
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REAEREXREABREENEAERFXERSEEEREEENBEXRARRNEEERREREEKS

x TRANFROM Y BY BOXCOX METHOD x
R AN ERA RN RERAS R AR RN ERAIARAREEARR AN RS
SUBROUTINE BOXCOX(Y,X,YL,F)
INTEGER F
REAL LAMB,LAMMIN,LAMMAX,LAMOPT,X(120,5),XT(5,120)
DOUBLE PRECISION Y(i20),YL(120),YSTR(120),XTX(5,5),
* SUM,G,81G,S(3)
CHARACTER STATUS*10
COMMON /DIM/N.M
SUM = 0.0
DOS5SI=1LN
IF (Y(1).LE.0) THEN
WRITE(*,*) 'CAN NOT FIND GEOMETRIC MBAN'
F = P+1
RETURN
END IF
5  CONTINUE
DO7JT=1M
DO71=1N
XTA,D = XA,D
7  CONTINUE
DOSI=1M
DO%J=1M
XTX({]) = 0.0
DO9K=1N
XTX(,J) = XTXAN+XTAK)*X(K,J)
9  CONTINUE
DO10I=1N
SUM = SUM+DLOG(Y())
10 CONTINUE



G = DEXP(SUM/N)
DO 1SI=1N
YSTRQ) = YQA)/G
15 CONTINUE
LAMMIN = -15.0
LAMMAX = 16.0
E = 0.01
20 LAMOPT = (LAMMIN+LAMMAX)/2
DO251=173
S() = 0.0
LAMB = LAMOPT+(J-2)*E
DO30I=1N
YL = 0.0
IF (LAMB NE.0) THEN
YD) = ((YSTR(I)**LAMB)-1)/LAMB
ELSE
Yi(I) = DLOG(YSTR(D))
END IR
30 CONTINUE
CALL OLS(YL,XTX,SIG.X)
s() = SIG
25 CONTINUE
IF (S(2).LE.S(1).AND.S(2).LB.S(3)) THEN
STATUS = 'OPTIMUM'
ELSE IF (5(1).GT.S(3)) THEN
LAMMIN = LAMOPT
ELSE IF (5(1).LT.S(3)) THEN
LAMMAX = LAMOPT
END IF

IF (LAMMAX-LAMMIN).GT.B.AND.(STATUS.NE.'"OPTIMUM")) GOTO 20

DO351=1N

206



35

IF (LAMOPT NE.0) THEN
YLQ) = ((YSTRA)**LAMOPT)-1)/LAMOPT
ELSE
YL{) = DLOG(YSTR())
BND IF
CONTINUE
STATUS = 'RETURN'
RETURN
END

*itltltIttll'lllItlltl!tllttiltllltllllll‘.'.‘lll‘lt

* ORDINARY LBAST SQUARE METHOD FIND SIGMA *

*‘*l‘l**ﬂ‘tl“lt‘ttl‘th!ltl‘lll'llltl‘l*l'tllltlll.‘

10

SUBROUTINE OLS(Y XTX,SIG,X)
REAL X(120,5)
DOUBLE PRECISION XTX(5,5), Y(120),5IG,XINVL(S,5),
x XTYL(S5),BTHGL(5),AMSE
COMMON /DIM/N,M
CALL BXTY(X,Y,XTYL)
CALL INVRS(XTX, XINVL)
DO 51 =1M
BTHGL() = 0.0
DO10J=1M
BTHGL() = BTHGLI)+XINVL({ J)*XTYL()
CONTINUE
CONTINUE
CALL BMSE(Y BTHGL,X,AMSRE)
SIG = AMSE
RETURN
END



*l‘*ll‘lillltI.l!.l!‘lltll"l-‘lt‘lltlllttl!tlttl*

E ]

CALCULATE K FOR RIDGE BSTIMATOR *

AXEFREEUEBEDEXANEREN AR USSR NSRS TR EREEEEFUNERRE

10

15

17

20

" 25

30

SUBROUTINE CALK(EGN,B,MSBY ,KOPT)
REAL D,KINT,K01,KOPT KBF01,K001,KSTP, KAFO1

3

_*  MKINT MSEB MK01 MKBF01,MK001, MKAF01

'DOUBLE PRECISION EGN(5),B(5) MSEY
COMMON /DIM/N,M

KOPT = 0.0

D = 0.01

KINT = 0.0

K01 = KINT + D

MKINT = MSEB(KINT,EGN,B,MSEY)
MKO1 = MSEB(K01,EGN,B,MSEY)

IF (MKINT-MKO01) 10,15,15

K01 = KINT

KOPT = K01

GOTO 17

KINT =K01

GOTO §

D = 0.001

IF (KOPT.EQ.0) GOTO 40

KBFO1 = KOPT - 0.01

K001 = KBFO1 + D

IF (K001.GE.KOPT) GOTO 40
MKBF01 = MSEB(KBF01,BGN,B,MSEY)
MKO001 = MSEB(K001,BGN,B,MSEY)
IF (MKBFO1-MK001) 25,30,30

KOPT = KBFO1

GOTO 60

KBF01 = K001
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45

50

GOTO 20

KSTP = KOPT + 0.01

K001 = KOPT

KAFO1 = KOO1 + D

IP (KAF01.GE.KSTP) GOTO 60
MKAFRD1 = MSEB(KAFD1,BGN,B, MSEY)
MK001 = MSEB(K001,EGN,B,MSEY)

IF (MKAF01-MK001) 45,45,50

K001 = KAFO1
GOTO 43
KOPT = K001

60 RETURN

END

I-lt.ll!!llI!ll!.t'llll“l.‘t‘lllllllt.t'i.'t.ll!‘

*

FUNCTION MSE OF BETAHAG =

FEXEDESERS SRS SRS RSB SNR RS E R SRR RS S SRR AR EEEE

10

20

REAL FUNCTION MSEB(K,EGN,B MSEY)
REAL K,BI
DOUBLE PRECISION EGN(5),B(5),5UM,COV,BIAS MSEY
COMMON /DIM/N,M
SUM = 0.0
BI = 0.0
DO 101 = 1M
SUM = SUM + (BGN(D))A(EGN(T)+K)**2)
CONTINUE
COV = MSEY*SUM
DO20T= LM
Bl = BIMBI)**2)A(BGN(I)+K)**2)
CONTINUE
BIAS = (K**2)*BI
MSEB = COV+BIAS
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RETURN
END

LA AR LR R R P P I S P e I

* SUBROUTINE MSE OF DEPENDENT VARIABLE *
ARERIEEEFEXRRAERIRSERSENNENN RSOSSN EENERSHERBELS
SUBROUTINE YSD(Y,MSEY)
DOUBLE PRECISION Y(m),SUMSQ,SUMY,MsaY,YBAR
COMMON /DIM/N,M
SUMSQ = 0.0
SUMY = 0.0
DO 101 = 1,(N-20)
SUMY = SUMY+Y(I)
SUMSQ =SUMSQHY(T)**2)
10 CONTINUE
YBAR = SUMYAN-20)
MSBY = (SUMSQ-(N-20) X YBAR®**2))AN-21)
RETURN
END

EXEEENEINREIPEEEANKEAREERIDEDRSERE RN EI XN SR AR RRERERR KX

* BUILDING MATRIX XTY .
P PP
SUBROUTINE BXTY(X,Y XTY)
REAL X(120,5)
DOUBLE PRECISION Y(120),XTY(5),XT(5,120)
COMMON /DIM/N.M
DO 10T = 1,M
DO 101=1,N
XT(JI) = X(,J)
10 CONTINUE
DO201= 1M
XTY() = 0.0
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DO20K = LN
XTY() = XTYO+XTA,K)*Y(K)
20 CONTINUE
RETURN
END

ERXEXXVNFEREBARIFBARRERBRIEZINERRRZXEZZL AR RBESEREEXTRAN

* BUILDING MATRIX XTY 1 TO N-20 .
—— . - -,
SUBROUTINE CXTY(X,Y XTY)
DOUBLE PRECISION ¥(120) XTY(5),X(120,5),XT(5,120)
COMMON /DIM/N,M
DO 107 = 1M
DO 101 = 1,(N-20)
XT(D) = XAT)
10 CONTINUE
DO201=1M
XTY() = 0.0
DO 20 K = 1,(N-20)
XTY@) = XTYIO+XTELK)*Y(K)
20 CONTINUE
RETURN
END

LA EREL RS SRR E LRSS LY LSRR LY ERSEEE RS LS EEES

. _ SUBROUTINE BETAHAG >
AR AR EREERA SRR ASEEE AR RN SSASERRIAREE AR
SUBROUTINE CBTHG(X,KOPTXTY,B)
REAL KOPT
DOUBLE PRECISION XTX(5,5),XT(5,120),X(120,5) XTY(5),B(S),
* XK(5,5),XINV(S,S)
COMMON /DIM/N,M
DO10J=1M



10

30
20

70
50

85
80

DO 10 I = 1,(N-20)
XTI = XA,
CONTINUE
DO201=1M
DO30J = 1M
XTXA,J) = 0.0
DO 40 K = 1,(N-20)
XTXT) = XTXEH+XTK)*X K, T
CONTINUE
CONTINUE
CONTINUE
DOSOI=1M
DO S0J = 1L M
XK@.J) = 0.0
IF (I-J) 60,70,60
XK(1,J) = XTX(1,J)
GOTO 50
XKQ,J) = XTX@ADH+KOPT
CONTINUE
CALL INVRS(XK XINV)
DO 80 I =1,M
B({) = 0.0
DO 85 K = 1,M
B{) = BO)+XINV(LK)*XTY(K)
CONTINUE
CONTINUE
RETURN
BEND
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. MEAN SQURE ERROR (YHAG) .
KRR ER KBRS SRR SRS KPR RS ERRERASS
SUBROUTINE BMSE(Y,B.X,MSE)
RBAL X(120,5)
DOUBLE PRECISION Y(120),B(5), YH(120),ESQMSE
COMMON /DIM/NM
BSQ = 0.0
DO 101 = 1N
YH() = 0.0
DO 10T = 1,M
YH() = YHI)+X1,J)*BJ)
10 CONTINUE
DO 201 = 1N
BSQ = BSQ+(Y()-YH(I))**2
20  CONTINUE
MSE = BSQN
RETURN
END

ENEERRNREENERERREERARREREEEARREAEARNNRRERERREARNEERESR

»  MBAN SQURE BRROR (YHAG) N-19 TON  *
HEREERAEEBAESRAESEEARNAEER SRR ERBEERERARESEREREREESE
SUBROUTINE CMSE(Y,B X, MSE)
DOUBLE PRECISION Y(120),B(5), YH(120),BSQ,X(120,5),MSE
COMMON /DIMN,M
BSQ = 0.0
DO 10 I = (N-19),N
YH(I) = 0.0
DO 10J = 1M
YH() = YHI)+X(,J)*B()
10 CONTINUE
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20

DO 20 I = (N-19),N
ESQ = ESQ+(Y(D)-YH())**2
CONTINUE
MSE = BSQ/20
RETURN
END

EXRRRRNEEENEIBHBREEBRERBENERIENREREREESEEIREERET kS

E

BUILDING INVBRSE MATRIX (XTX+KI) .

AREARBIXBRBIXE LR ERERIABNEEER AL CIEI SN RENREEERIRRE NSRS

10

30

50
20

SUBROUTINE INVRS(X,XINV)
DOUBLE PRECISION X(5,5),XINV(5,5),A(5,5)
COMMON /DIM/N,M
DO10I=1M
DO 10J = LM
ALY = X1D)
CONTINUE
DO 20K = 1L,M
A(KK) = -1LO/ACKK)
DOI=1M
IF (@-K).NB.0) A(LK) = -A(LK)*A(K.K)
CONTINUE
DO40I= 1M
DO 40J = LM

IF ((1-K)*J-K)).NE.0) A(.J) = A(LN-ALK)*AK, )

CONTINUE
DO S0 = 1M
IF ((J-K).NE.O) A(K,J) = -A(KJy*A(K K)
CONTINUE
CONTINUE
DO 60 I=1M
DOG0J= LM
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XINV(J) = -AQLJ)
60 CONTINUR
RETURN
BND

EEEERRERANDEREBBRERSEREEERBDRFERER SR RERRNERENEIED R

> ERROR DISTRIBUTION IS NORMAL -
PRI . NI A A
FUNCTION NORMAIL(DMBEAN,SIGMA)
REAL RAND,NORMAL
COMMON /SEED/AX,IT
PI = 3.142857143
IF (IT.EQ.1) GOTO 10
RU1 = RAND(X)
RU2 = RAND(IX)
Ul = SQRT(-2*ALOG(RU1))*COS(2*PT*RU2)
U2 = SQRT(-2*ALOG(RU1))*SIN(2*FI*RU2)
NORMAL = DMBAN+SIGMA *U1
IT =1
RETURN
10 NORMAL = DMBAN+SIGMA *U2
IT = 0
RETURN
END

EESBEREESISENRARSDERERSTLDSSER AR RUREENRES R VSRV REPRIPUDEDEPEE

* BRROR DISTRIBUTION IS SCALB-CONTAMINATE NORMAL *
ZRERERRNEREXRSDEXFDEEE NS EDBEER AN AR AR N EDBASSRADAERREEREERERER
FUNCTION SCALE(C,P,DMBAN,SIG1)
RBAL NORMAL,SIG2,Q,SCALE
COMMON /SBRD/IX,IT
SIG2 = C*SIG1

Q = RAND(IX)
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IF ((Q-P).LB.0) THEN

SCALE = NORMAL(DMEAN,SIG2)
ELSE

SCALE = NORMAL(DMEAN SIG1)
ENDIF
RETURN
END

SRR TR IR PR E AR AR SRR R R R R LR EE AL R L L EL L

*  BRROR DISTRIBUTION IS LOGNORMAL .
asssasnansansananennsTyensliadiaid e s ke bsanash

FUNCTION LOGNOR(DMEAN,SIGMA)

REAL LOGNOR NORMAL,E

E = NORMAL(DMEAN,SIGMA)

LOGNOR = EXP(R)

 RETURN
END

ERNASERAEEENESRAEEBESERRERESUSERFARERRIELENNRENNN KN R

* RANDOM UNIFORM(O, 1) x
SRR - i

FUNCTION RAND(IX)

IX = (IX*16807)

IF (IX.LT.0) IX = (IX+2147483647)+1

RAND = IX

RAND = RAND/2147483647.0

RETURN

END

ESEREEEELFESREREEE YL RS ELEE LRSS A YRR SRR DY L T
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